Text 9. 

Income Statement as a Lens on Growth

Текст взят из Barker, R. Short Introduction to Accounting / R. Barker. – Cambridge : Cambridge Univ. Press, 2011. – 215 p.
As we have seen, with depreciation, and changes to accounts receivable and accounts payable, there are changes to the book value of net assets that are not the consequence of cash flows. There is therefore not a complete story of growth provided by the cash flow statement alone. To illustrate this, have a go at creating the income statements for each of the companies. For this purpose, assume that the cash outflows for operating expenses were $30k for each company, and the cash inflows from customers were $40k for Companies A, B and C, $30k for D, H and I, and $20k for E, F and G. Once you have completed the income statements, compare your answer with that in Table 9 (Income Statements).
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	Income
	49
	49
	49
	39
	29
	29
	29
	39
	39

	Expenses–10
	-33
	-33
	-33
	-33
	-33
	-33
	-33
	-33
	-33

	Depreciation 
	-7
	-7
	-7
	-7
	-7
	-7
	-7
	-7
	-7

	Profit
	9
	9
	9
	-1
	-11
	-11
	-11
	-1
	-1


Table 9. – Income Statements

Overall, profit is equal to the change in net assets, and it is therefore a measure of growth. There remain, however, reasons to find other statements useful also. To illustrate, consider accounts receivable. Even though income is recognised whether or not cash has actually been received, it is always preferable to hold assets in the form of cash rather than accounts receivable, because cash can be reinvested in the business, while receivables are unproductive assets and subject to the risk of customer default. Further, if you compare Company A with Company C, you will see that both have the same profit, but the balance sheets of each have changed differently, and with different implications for productive capacity and so for the future growth of the company. Specifically, Company A has reinvested operating cash flow into fixed assets, while Company C has divested fixed assets and used the cash from this and from operating activities to repay bank loans. Each company ends up with the same amount of net assets, but Company A has the larger business (more assets and also more liabilities).

